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A 2 Gr-A—4E 4 =)7" 797 100mLh £ il
A 1
m 968 13,773 13, 332, 264
B =h v Gr-A-2B 4" =77" 7%/ 21mLk _100m
AT AR A 1F
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A Gr—-SB-2E ¥ =77 7%
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=8 V=g A 1200 AFE HEHERA+5cm 47077 79/
T 5 7,107 35,535
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ST B 1A (B)
m 102 11, 531 1,176, 162
438 - 34 (ST B 1A 2mPL K 2m
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m 1,423 16, 661 23,708, 603
438 - 34 (ST B 1A 2mPL K 2m
ST B 1EAT (D)
m 627 10, 993 6,892, 611
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H 1 89, 034 89, 034
TE AT R iRk 1
= 1 1,078, 259
JEEEATEY T
= 1 1,078, 259
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70 HEEEUS 30ALL 1
15 RR s AT
ZN 17 29, 074 494, 258
TR A Jri ¢ 100 B OBUKMEQER b -7
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2GR AT
ZN 27 9,491 256, 257
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70 HEEEUS 30ALL 1
3T IR AT
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HEEE L
= 1 19, 275
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e B L1
= 1 19, 275
/)0 -hEIFL ¢ 150
L 3 6, 425 19, 275
Gan
= 1 318, 743
ARmE T
= 1 318, 743
B TR
= 1 65, 376, 630
I L
= 1 8, 614, 483
IR
= 1 1, 710, 991
et By
= 1 1,012,028
Bt o I E BE D 7= D Ik
Tl B
= 1 954, 467
B B FEAT -HERE
= 1 57, 561
BIGREsET (K30
= 1 698, 963
MR E (FE L)
= 1 6, 903, 492
Wi
= 1 73,991, 163
B
= 1 23, 361, 448
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T AT

= 1 97, 352, 611
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= 1 16, 537, 389
TS

= 1 113, 890, 000
THEBLFH Y %H

= 1 11, 389, 000
TH#EG

= 1 125, 279, 000
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